James Elliman Academy

Answers for Weekly Activities

Year 5

Week beginning: 20-04-2020

Learning Time

Maths

1. E.g. Because it wastes natural resources, and it damages the environment.

2. Itis buried in landfill sites or burned.

3. E.g. Everyone should try to live in a way that uses as few natural resources as
possible so that there are enough left for people in the future.

4. E.g. When something is recycled, it’s broken down and turned into new products,

. but when something is reused, it’s used again as it is.
Rea d I n g 5. Any appropriate answer. E.g. Yes, because it lists the most important points in the
article, which helps you to remember them.

6. E.g.To persuade people to recycle more.

7. E.g. It makes the text seem more personal, so the reader is more likely to be
persuaded by the text because they feel like they are involved in doing the things it
describes.

P.21 Co-ordinating conjunctions
1. but, and, or so, for
2. and, but, so
G ra m m a r p.22 Subordinating Conjunctions
1. If, Unless, Although, when, while
2. Since, whenever, while, even though, because
Activity 1

Targeted Question book page 26
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So she gets £3.06 change.

(1 mark)

Q4 3x60=2x[]
3x6=18,
so 3 x 60 = 180.
So180=2x[]
18+2=9,
so 180 = 2 = 90 cakes
(1 mark)

Q5. 927 =13rem lpage It will take 14 days

Activity 2

1.Pencils 17,280
Rulers 33,120
33,120-17,280=15,840

2.1,380

Activity 3

Always give a 3 digit number highest number 99 x 9=891

However Sometimes can be even or odd

Varying reasons. It will be even for some numbers example: 56x7=392 whereas in
others can be an odd number example: 99x5=495

Activity 4 and 5
1a) Teddy read 814 pages and mum read 814x4=3,256 Together =4,017
1b) 3,256 + 814=2,442 less pages

2a)50-+4= 12 pieces rem 2cm
2b)4x12+2cm

3) 5x5x5=125
6cubed =6x6x6=216
4x4x4=64
2cubed=2x2x2=8

4)

Venn diagram
20=1,2,4,5,10,20
24=1,2,3,4,6,8,12,24
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Common factors will be 1,2,4

Venn diagram

9=1,3,9

15=1, 3, 5,15

Common factors 1 and 3




